
Name: LösungsschlüsselMultiplikation - vertikal

Mathe www.CommonCoreSheets.de
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Antworten

1. 1.749

2. 5.135

3. 5.550

4. 4.350

5. 5.073

6. 1.824

7. 3.621

8. 2.656

9. 7.392

10. 1.890

11. 833

12. 2.295

13. 2.250

14. 7.326

15. 6.825

16. 1.640

17. 391

18. 7.047

19. 481

20. 3.417

Löse jede Aufgabe.

1) 53

• 33

159

+ 1.590

1.749

2) 79

• 65

395

+ 4.740

5.135

3) 74

• 75

370

+ 5.180

5.550

4) 58

• 75

290

+ 4.060

4.350

5) 89

• 57

623

+ 4.450

5.073

6) 24

• 76

144

+ 1.680

1.824

7) 51

• 71

51

+ 3.570

3.621

8) 32

• 83

96

+ 2.560

2.656

9) 84

• 88

672

+ 6.720

7.392

10) 63

• 30

1.890

11) 49

• 17

343

+ 490

833

12) 51

• 45

255

+ 2.040

2.295

13) 75

• 30

2.250

14) 99

• 74

396

+ 6.930

7.326

15) 75

• 91

75

+ 6.750

6.825

16) 82

• 20

1.640

17) 17

• 23

51

+ 340

391

18) 81

• 87

567

+ 6.480

7.047

19) 13

• 37

91

+ 390

481

20) 51

• 67

357

+ 3.060

3.417
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